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Data Type

Python - Data Types

|

| | Dictionary | | Boolean | | set | | Se3ience |

| strings | [ Tuple |
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String
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o String sample

{ { é»& >>> panagram='The Quick Brown Fox Jumps Over The Lazy Dog'
| >>> panagram[0]

e P
>>> panagram[4:9] 35
‘Oulck®

>>> panagram[4:]

'Quick Brown Fox Jumps Over The Lazy Dog’
>>> panagram[-1]

lgl

>>> panagram([1:100]

'he Quick Brown Fox Jumps Over The Lazy Dog'
>>> panagram([100:200]

>>> panagram([0]='t’
Traceback (most recent call last):
File "<pyshell$#78>", line 1, in <module>
panagram[0]='t"
TypeError: 'str' object does not support item assignment
>>>

e - T



String

£ Qperator

* “Guido”+” van “+”Rossum” =”” Guido van Rossum”
¢ S Operatos

S ARG AN AA AR

* Print(“\n”*50)=> Clear Screen
> i

° ‘2’ in ‘python’ = False

* ‘@’ notin ‘python’ = True
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List Sample

>>> number=['one', 'two', 'three', 'four',6 'five’']

>>> number[0]

'one'’

>>> number|[l:4]

['two', 'three',6 'four']

>>> number[-1]

"five'

>>> number[2:]

['three', 'four',K 'five']

>>> number+number

['one', 'two', 'three', 'four',6K 'five', 'one',6 'two',
>>> number*2

['one', 'two', 'three', 'four',6K 'five', 'one',K 'two',
>>> number[1]=2

>>> number

['one', 2, 'three', 'four', 'five']

>>> print (number)

['one', 2, 'three',K 'four', 'five']

>>> len (number)

5

'three’,

'three',

'four',

'four',

"five']

'five']




Range Function

range (6)
range (0, 6)
range(1l,6)
range(l, 6)

range(1l,6,2)
range(l, 6, 2)
X=range(l,6,3)
list (x)

[1, 4]
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Red={1,2,3,4,5,6}

Blue={1,2,3,4,5,6}

Red*Blue={(1,1), (1,2), (1,3),(1,4),(1,5),(1,6),
(2,1), (2,2), (2,3),(2,4),(2,5),(2,6),
(3,1), (3,2), (3,3).(3,4),(3,5),(3,6),
(4,1), (4,2), (4,3),(4,4),(4,5),(4,6), (4.,6), (5,5), (6.4))
(5,1), (5,2), (5,3).(5,4),(5,5),(5,6),

(6,1), (6,2), (6,3).(6,4),(6,5),(6,6)}
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state=[1,1]
for 1 in range(36):
if state[0]+state[l]==10:
print (state)
if state[l]<6:
state[l]=state[l]+1
else:
state[0]=state[0]+1
state[l]=1




while

While expression

Condition

If false

statement
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state=[1,1]
while state!=[6,6]:
1T state[0]+state[l]==10:
print (state)
1L state[l]<6:
state[l]l=state[l]+1
else:
state[0]=state[0]+1
state[l]=1
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